\(['] Tube
Sleeve Series CIHIENE |i|

?yﬁi

=TV I—BETOREFIN—UVIMTIIC,

AU—TJCEEZDIF DT ET YJHGEDF Y TITH D g <7Eb
INTEHCREDBL X TUEIRDYTERE, FvTHEmhH120%UP%Z
FRLE LI,

REXIDFHICHDID T, AU—TZRILY—DSEDHEFIC
R=UVIN—DREZGHEICGABIHIENTERT,

ey
) < & Dimensions (mm) 1SET
A—O—1x1{8 B E Y i
E Ty o) Model No. R—0O—1 h—O—2 | fEtEE)
780 (1SETit) KH-18S M6X6 MBX6 780
'T‘ —2x118 KH-1S M6x8 M6x10 780
KH-25 M8x6 M8X6 780
L5 280 KH-3S M8x8 M8x8 780
K-3(KH-1SH)
K-4(KH-2S / KH-3S / KH-4SH) (LSS MBx8 M8x10 780
K-5(KH-5S / KH-6SF) KH-5S M10x8 M10x8 780
KH-65 M10x8 M10x10 780

# 1SET((h—O—1+h—0—2 F1{EA)
fifiE (M) = /\GEfiE (F3)

s |3
s
KL FIERIER BBV T,
IR ABERBLTHIET,
x &

B OE 3 3%  Dimensions (mm) _—

Model No. oD | ¢D1 | ¢D2 | od od1 L 2 22 23 2a 25 26 F | top=xy G
KJD25S08 33 20 18 25 8 115 80 5 15 15 14 10 24 KH-1SS 15,180
KJD25S10 33 24 20 25 10 115 80 5 15 15 14 10 24 KH-2S 15,180
KJD25S12 33 24 20 25 12 115 80 5 15 15 14 10 24 KH-2S 15,180
KJD25S16 33 30 26 25 16 115 80 5] 13 17 14 10 24 KH-2S 16,070
KJD32S08 40 28 24 32 8 115 80 5 15 15 14 10 30 KH-1S 15,180
KJD32S10 40 25 = 32 10 115 80 5] 30 - 14 10 30 KH-2S 15,180
KJD32S12 40 25 - 32 12 115 80 5 30 - 14 10 30 KH-2S 15,180
KJD32S16 40 30 26 32 16 115 80 5 13 17 14 10 30 KH-2S 16,070
KJD32S20 40 32 - 32 20 115 80 5 30 - 13 11 30 KH-2S 16,070
KJD40S08 47 28 24 40 8 120 80 5 15 20 16 12 38 KH-1S 16,070
KJD40S10 47 32 28 40 10 120 80 5 15 20 15 13 38 KH-3S 16,070
KJD40S12 47 32 28 40 12 120 80 5] 15 20 15 13 38 KH-3S 16,070
KJD40S16 47 34 31 40 16 120 80 5 15 20 15 13 38 KH-4S 16,960
KJD40S20 47 35 = 40 20 120 80 5 35 = 15 13 38 KH-5S 17,710
KJD40S25 48 40 - 40 25 120 80 15 25 - 175 15 38 KH-6S 17,710

ffitg (F9) =2 /)\FEfieg (F3)

108



